
�ŚĂƉƚĞƌ�ϲ� ^ĞĐƚŝŽŶ�ϲ͘ϭ�^ůŽƉĞ�ŽĨ�Ă�>ŝŶĞ� >ŝŶĞĂƌ�&ƵŶĐƚŝŽŶƐ�

�ƐƐŝŐŶŵĞŶƚ� Ɖ͘�ϯϯϵ�ηϭͲϯ͕�ϱͲϵ͕�ϭϯ͕�ϭϳ͕�Ϯϰ� YƵŝǌ͗�EĞǆƚ��ĂǇ͊�

�

EĂŵĞ͗�ͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺ�� � � � � ���������� �ĂƚĞ͗�ͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺͺ�

>ĞĂƌŶŝŶŐ�'ŽĂů�ϲ͘ϭ�
�ĂůĐƵůĂƚŝŶŐ�ƚŚĞ�ƐůŽƉĞ�ŽĨ�ƚŚĞ�ůŝŶĞ�ĂŶĚ�

x� hƐŝŶŐ�ƚŚĞ�ƐůŽƉĞ�ƚŽ�ŐƌĂƉŚ�Ă�ůŝŶĞ͕�ĂŶĚ�
x� �ƉƉůǇŝŶŐ�ƚŚĞ�ƐůŽƉĞ�ƚŽ�ƉĂƌĂůůĞů�ĂŶĚ�ƉĞƌƉĞŶĚŝĐƵůĂƌ�ůŝŶĞƐ͘�

�

hƉŚŝůů� &ůĂƚ� �ŽǁŶŚŝůů�

� � �

�

� �

�

�

�

�

�

�

� � � ��

���������^ůŽƉĞ�с�

�

�ǆĂŵƉůĞ�tŚĂƚ�ŝƐ�ƚŚĞ�ǀĂůƵĞ�ŽĨ�ƚŚĞ�ƐůŽƉĞ�ŽĨ�ƚŚĞ�ůŝŶĞ͍��tŚĂƚ�ĚŽĞƐ�ƚŚĞ�ƐůŽƉĞ�ƌĞƉƌĞƐĞŶƚ͍�

Ă͘� � ď͘� �

 

risen changeing 64 y arepoin
Changein

921
Kz 74 4122yz ontheline

Slope 101 Slope 72120 300
180 6

5 4O hr60

velocity
7401mi



�ŚĂƉƚĞƌ�ϲ� ^ĞĐƚŝŽŶ�ϲ͘ϭ�^ůŽƉĞ�ŽĨ�Ă�>ŝŶĞ� >ŝŶĞĂƌ�&ƵŶĐƚŝŽŶƐ�

�ƐƐŝŐŶŵĞŶƚ� Ɖ͘�ϯϯϵ�ηϭͲϯ͕�ϱͲϵ͕�ϭϯ͕�ϭϳ͕�Ϯϰ� YƵŝǌ͗�EĞǆƚ��ĂǇ͊�

�ǆĂŵƉůĞ�&ŝŶĚ�ƚŚĞ�ƐůŽƉĞ�ŽĨ�ĞĂĐŚ�ŽĨ�ƚŚĞ�ĨŽůůŽǁŝŶŐ�ůŝŶĞ�ƐĞŐŵĞŶƚƐ͘�

^ůŽƉĞ�ŽĨ�>ŝŶĞ�^ĞŐŵĞŶƚ� �

K��с��

�

���с��

���с��

���с��

���с��

�

�ǆĂŵƉůĞ�&ŝŶĚ�ƚŚĞ�ƐůŽƉĞ�ŽĨ�ĞĂĐŚ�ŽĨ�ƚŚĞ�ĨŽůůŽǁŝŶŐ�ůŝŶĞ�ƐĞŐŵĞŶƚƐ͘�

^ůŽƉĞ�ŽĨ�>ŝŶĞ�^ĞŐŵĞŶƚ� �

�

�

�

�

�

�

�

^ƵŵŵĂƌǇ�
hƉŚŝůů� ,ŽƌŝǌŽŶƚĂů� sĞƌƚŝĐĂů� �ŽǁŶŚŝůů�

� � � �

�

15 O 15
4 0 4 14,25
15 15
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14 lo F 2 110,15
2 7,54 0,2 0 128,0

egg E origin 19072
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